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Beispiel zum Homomorphiesatz

Die Gruppe (G,o0): Die Gruppe (H,*):
ole c¢c a d b f x| n o u v w T Y
ele ¢c a d b f n|in u v w T Y
clc e d a f b ulu v onoy w x
ala d b f ¢ e viv n o u T Yy w
dld a f b e c wlw r Yy n o ou v
b|b f ¢ e d a rT|lTr Yy w u n o u
flf b e ¢ a d yly w x v v n
.G — H, e—mn, crn,
a—u, d— u,

b— v, [

kerp = {e,c}, aokerp={a,d}, bokerp=/{b, [}
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Die Gruppe (G,o0): Die Gruppe (H,*):
ole c¢c a d b f x| n o u v w T Y
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clc e d a f b ulu v onoy w x
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v(kerp) =n, Y(aokerp) =u, Y(bokery) =



Beispiel zum Homomorphiesatz

Die Gruppe (G,o0): Die Gruppe (H,*):
ole c¢c a d b f x| n o u v w T Y
ele ¢c a d b f n|in u v w T Y
clc e d a f b ulu v onoy w x
ala d b f ¢ e viv n o u T Yy w
dld a f b e c wlw r Yy n o ou v
b|b f ¢ e d a rT|lTr Yy w u n o u
flf b e ¢ a d yly w x v v n
.G — H, e—mn, crn,
a—u, d— u,

b— v, [
kerop = {e,c}, aokerp=1{a,d}, bokerp={b, [}
Y(kerp) =n, Y(aokerp) =u, Y(bokerp)=w

p(G) = ¢e({e,a,b,c,d, f}) = {w(e), (a), p(b), p(c), p(d), o(f)} = {n, u, v}



